(L

GogJJIolsLmUlJolj_&g)J\/mANARZEJR

olasiul willgw

lellbl 6)9'.@ Uuh.u.lJlS

(3)) plol Yloy9 ol olin

€0l olasiwl ygajl o dui pllel pilio b Gilbo (V)

(b shlo 5y Lol g yiaS vlusd) Jlga loo Joliis Syl dieas ()
Suzlad deolpo ddye Yll culbw dy 5o pind dolisewl olpam s Jlgaw VVP b o Slol diuws dugd sl &)

Qb g0 "jloe” disye Uil g5 8) o 1yguu o gjor 1l jl 6 loes put dolaiwl U Ll 4N €& IRANARZE.IR




(o Vs TTAU]]T]|

(OJ) ‘olo| Qlo)é L,,gl)?| Sliw wlcMbl u;)gl.ié Uul.i.»fb)ls L,ol.\s’ﬁ.wl U9‘°)T AWy (Sl.tb LS.:,,J

(6)) plol b2l St SV lgaw 3,5 Jgazxo ol 3,5
PIRE U9, 0952 S, 221 Juw Vo oladiuwl SVIgw 3,5
a>bao 695> 33> a>bao WVlgw 3,5
wsel Ll vge)l glio

abye ol eleis] gl aSaud
Ol + Saee wlanass + o) slo 1)

S Ol 59y Uindy »0 63oliue (5l))

o Hlw)jern >l
Jea=o 3320 @G \Fo /o VIV


https://iranarze.ir/es1555
https://iranarze.ir/es302
https://iranarze.ir/es580
https://iranarze.ir/es501
https://iranarze.ir/es693
https://iranarze.ir/es1231
https://iranarze.ir/blog/estekhdam1040/
https://iranarze.ir/blog/estekhdam1038/
https://iranarze.ir/page/social-networks

(o Vs TTAU]]T]|

oges ahy>

(Jlow Vo) F axiuo - LoMuwl Jilic Jgwol 9 )l Y lguw 1ol Juad

(Jlgaw Yo) A axduo - aibyly L )15 sl &)lgo WVIgaw (09> Juad

(Jlgaw Vo) Vo axtus - uudSl U Y Iguw 'p9w Juad

(Jlgaw Yo) W axtws - (9, Liild) ogec WleMbl CVIlgw :o,lg=> Juad

(Ulgw ¥o) 15 amiuo - adye olul b aSids Caiol OV Igaws :paxiy Juad

(65) Plot 3k 39 (31521 Sliaw LMY (5 395 i 315’ ¥ g Gy

0,



(o Vs TTAU]]T]|

ol Awlgi (e Ulg=> b iy WV lguw bl ) (Lled W)go 55 . 2uibb 50 aoliZewly bl (lail Jlgw | g (pidy o )

Satles (5l adse ol gl 51 1) Josazme

Jgaxo 3>

oges dbouo <

oMl Llic Jguol g Bylo Vlgw 1ol Juad
03US ged 395 ylid, (l aS (S 9 jlos (UMW ¢ Rlwyb b aSl () b 6 bol 3uil p3y0 634S Wgeo» i -
3,15 6,Lil pggoo plAS @y K. Aiaudd
Al S g Deed S 9 S @ oSl ol 025,580 ()
sl Glee Weed (S g S @ oSl ol 025,580 (¥
Jble Sy 20 @y ol 5l 8 S5 g S ged (P
D90 AT azge pat 3D Sw 9 > @ Wged (F
28y 9,13 @ sl £2,,50 )18 S 9 s @y Weed 3590 Cal HLB aS ilwil Ly @ ¥ aijS tasye glal ol gl
S 05 6aiS Wged Ll
....... ¢ Bilgsu 5o 9 awl Luat (5,505 42 b 4685 b g il 53 3313 )13S5les 31 -V
les o3lel uad st Gold b jles o 14 (0
oles oslel Lwad e Guld L) 5les ol Cuwl g (Y
gles 03lel 330 5 uanl Jbly Giiles cpxiuse bliol ay by (¥
Ll JBBIL T b asles Sl cunl @S Ginlade ez (F
9 Wl 59, OllgS g lanlis 5l SyelsS @y o)Ll (oleiss bo pgaley alS ol LaBSloYI aSule ol g) ady b af -

(.'))b C.’.uolﬁ )‘| 419)0 ‘o|.)S Pr)

095 ~ Uaegiazs 695l g ylyrolsy (¥ Jol = paegaze aail g ylymely ()
£9> = o)l wbselo 9 s (F Jsl = el ubseloe 9 oBiyé (¥

Cuwl R0 ‘ol.)S @ a)léo -F
ezl 4y 9315 350 9 W)l sl S 390352 ()
.ol yob a4y Wyl by ObSs b Sy b (¥

0D S o 0L g 9w 43 9 vl (6505 LSl > Wyl gy e (W

(65) Plot 3k 39 (31521 Sliaw LMY (5 395 i 315’ ¥ g oMt Wl Jgof g & yleo 2) b


https://iranarze.ir/es1555

(q Vs AU
0392 S Ol 0L 9 9m 53 9 Uit LSl ) L) GEL b puoj (F
Sl @laS s ol Lol e g bl Ll Jw p13S 53 (ae) e plol (sl st -0
2515 1) plol yogh il aS 340 393 - (3.0 VP4 ()
35,135 1) ool yogh Siuglis aS @30 395 - .0 V5o (¥
23,5 Gwaale yogb 51 ) e aS H9> leSl> - .0 YFo (W
S e pustle Ol yegh 511, @0 a5 ez plol> - 3.0 PP (F
SAbbso ) Wluogas jl SuplsS Jubd 4 bl 3590 5 Sl 0529 Culsos -¢
030 )& 9 b (F bl g Jéae (¥ Jie g 2o, (¥ yhd g 29, ()
Sl gyl 4 (sgize 3 (53le WISy 9 Sy da abhuly (o) Wl oliS suoly 3929 390 ElaS Gilao -V
b oV (F 90 Vg (¥ Crauac g @le (¥ ETERLNEE SVN(
)91 (0 Vo)l @ ) 3590 EIIS (Aiglas ay Capms Ylusil (s3iojls 9 ,89 ) -A
A 6k o 5D Cudgae 9 S Kb b 9 55 (598 ()
252 (5l sl @) Sl (5380 A€ (Niglas s 392 88 (Y
3505 b Gl b auglio 55 ©YlaS cowS ay i Lo pulue! (W
Dl39290 sl @y s (VWS 9,505 slo Gl @ Cuws o392 i (F

@iy ,9 @ Joe ol (3825 G250 9 IS crveeninenes 95 a3 Xiojly aS Cuwl HOUS ;I (ielaSL g Blac a) =293 2 -9

1> 355 U a3, U ST slgz = (53 ()
15 385 s o3lse U Sl slgz — el (¥
sSae 5l 9 9 Bgrme @y yol (53,5 (W

Sio 5l 5 9 B0 s el = elaizl (F

Ll . ub=w jl Pl Wlsw alawg (yiuld Jlagl o )b |) 135 g il ..., (W>9 W)yg o wlil ol) -0
SOUS — Jac (F lg,y - Jse (W SOUS| - slasel (Y lg, - slasel ()

Sl S a2 a3 Ol () S -1)

€S 9 550 43 Siy 30 dad OR0S 4d g)d 4D P 4D LuddN
Ak H9m Jole JLis @y 395 oL auzgi (sho a5 (531,31 ()

A (9,5 Jole JWid 4y 039> 6LS auzgi sl aS (531,391 (¥

(05) plol 3o 35 31 921 Sliaw M (5 39Ud i 15 ¥ 1 g oMt Wl Jgof g & yleo 2) b


https://iranarze.ir/es1555

(q Vs AU
A LOUS| lasg JLod au g 3l 6aui ya5k0 0)lol Luss 5l aS (o350 (F
€394 (0 Bizo YLl (52 Wygu0 EIIS s (Ol 59, 50 23S 9 YUY -1V
Jleel usé ai (¥ Jlesl b azss ()
Ol),ko 9 Giled b=l (F Jlecl 5 0l aus (¥
Slg 1 S pIIS @ iy a1 @S (o KW KLYl CeS>D g Kigla> gazol ya8» ;I slre WLSI > aS idg -1V
Szl 03,5 o,Lal 5
oo 392 oz = sleo g1 Gilowns (¥ dleo Wyg 6 = dlee 391 (o ()
dlro Wyg b = dlee g s (F dlro 9392 ilowwz — dleo g po (W
Sl 495 5| paud l3S aojV (EMunl olyS Jgawy Qlwisl> 9 (o) s1oly g 135 51 cuelbl (@)l Yloyd 2 Ly -IF
gy 3 2> (P Sl ) 2z ()
<oVg 5 dumgs (F Wobie )5 3umg5 (W
Sl 50 (£) slghl aodl Culgiuo 1SS 11 BU waiyi @) (330 @y sy LBBT g plaSl> 3l pac -16
ol CuVg (sbul) 53 sxalxe (5 0l coVg bl > oaolxe ()
&> 2 o bl plaic @ 395 (820 -(5,0b yVg (sliwl) )5 o30lxo (¥
@8> » plol Olgic @ 39> 920 “(iyd Cumzio @ bgy e Dlels8l (W
2D Cue>is a bgs o Oleladl - Cuss e a by e Dleladl (F
W ereeeenneens aS 59 o 635uS UsuT oS (5 dinld 9 3l Linhdl 0 @) Jglad 4y s LiSKD o> ST -18
LS (0 gl
vl g s (F oS iy (W CraS> g Jite (¥ Oyhé g Jice ()
Scal (5342 42 Jslo (il A5l pllis -1V
Vglas slo)l5 1 (53829 sl S ()
5T, foanndis 9 o> 0393y (Stwgay 9 bL)I (P
0l g &)U slail 5l aS Glusl gl g s> (v
anl Jie Golwl 1 542 aas a5 Niglai adsl i 3T (F
Sl o135 Gued oy (sl 90 23 by 1A
g s (F Crogid (1 5 g Mb (V' 3wy o S aS Gl ()
gl o (iegaly Ul gl o Ll Lgal" 1339058 Slazg; IS 359055 (o) EWwl ol ssely -19

bl o3 (F A& a=dlg (¥ i Egas (¥ »l> Egas ()

(05) plol 3o 35 31 921 Sliaw M (5 39Ud i 15 ¥ 1 g oMt Wl Jgof g & yleo 2) b



(q Vs AU

03193l S matb (5d €ipej 5| SpalS @ (...iolushal io @539 638 9 (rais 5219l ro @SU =2 5) ady b @ -Vo

(.‘.)Jl.) OJLA‘.:Jl
rmad b 29, owil 9 Gisel)T @y 5L (¥ GOUS A, ()
gz 2 (F Ol355,8 Ulye 9 2, (W

(65) Plot 3k 39 (31521 Sliaw LMY (5 395 i 315’ ¥ g oMt Wl Jgof g & yleo 2) b



(q Vs AU
@bl b, sl @ylgo WY lguw ogd Juad
TS o S |y Ladds 15 Jaszxo g9 3w (0 el @y 138 1) Loy 5igas0lS Sl atamaan J1381 015 Sy 3590 IS -
Web Browser (F Folder Options (W Task Manager (¥ Windows 10 ()
aolys 9 1381 b (sly2 (she @Sl (555940018 a0l (€95 ok L1381 0 @ ) i3S tasye ol Culw gl
85,5 sl ¥ Jao S plsic |y (55591005 et STl 02 2hb SigaelS (QLisgid b 3,9 aiile) (53,0, (sl
aoliyy diged (50,5 0ub aislud Jole pimw -l (6,15 sl aolp 9 )18l Ciduw G buly i H1581 0,5 (e S0
S (5o Lo JigaelS SO o | (69,0, sl aelip pled Jole el - Cuwl ol
394 (0 0320U a4z lgsT yu 031> JUil 9 55355 @y Higasels Sy I i JUail -¥
ol (F JSIg (W Sy (¥ aV ()
€3)S oslaiawl Ylgi (o J25 LSS AS plas ;I Windows7 Jole w53 852 S i sl -V
Alt + F4 (¢ Alt + C (¥ Shift + F4 (¥ Shift + C ()
oA 0,453 (o> a8 Ailgi (o T alauwlg 4 aS 39 o leuis 4 Windows7 Jole @i (sl bl 1 3,90 olaS -F
SauS o2l (gl 0)zxiz ;5 |) Eiaw 5>
Start Menu (¥ File Explorer (\
Control Panel (¥ Desktop Properties (»
€394 (0 03Likuwl Windows7 Jole @i (sld 0y2xia 53 Laiadl, 8,20 935S 5U (sl S plas -6
F2 (¢ F1 (™ H (¥ F12 ()
©3,5 6Ll 39290 Akaw I PDF (a6 3 3wl sl 0lg5 0 125 90 ©IAS jI (Word 2013 1381 0,5 55 -§
Share (& Export (W Convert (¥ Protect ()
€39 6,353 igauy IS b 3l el ;5w 1531 05 0l b (51> aduuns b ld aSil sl (Word 2013 1381 @5 53 -V
doc (¥ dot (V¥ docx (¥ rtf ()
)15 U ax 3gu (0 aislw Excel 2013 1581 o) ;5 aS L6 -A
Database (F Document (W Workbook (¥ Worksheet ()
092 ble b Cund b Cuwlisio y5lie 515,55 9 Yol by Sy Gy by &U elas ;1 <Excel 2013 1381 o5 5 -9
€394 (50 63l T
EV (F IF (W RETURN (¥ LOOK ()

T34 (0 6Lkl d 0315 I 5 Linles pac b Linles (sl <Excel 2013 1581 0,5 55 515905 S 5 sl Elas ;i 1o

(05) plol 3o 35 31 921 Sliaw M (5 39Ud i 15 ¥ 1 g b1y 4 ) ol & yleo Y Juad



(q Vs AU
Select (F Range (W Show/Hide (¥ Filter ()
394 (0 6315 inles 3,90 IS Blank Presentation wilkisl g PowerPoint 2013 1381 05 35S ;L pKis -1
Master Ml (¥ LMol 051361 Gl o=y ()
Ml ¢l (F U Uiy sl B (¥
Sl iy Yl las plas )5 dasMwl Ginlg PowerPoint 2013 1381 0,5 ;5 -1Y
Slide Show (¥ Notes Page (W Slide Sorter (¥ Outline View (1
Camlas Jolaz ;0 6315 (53,5 adlsl ay pladl 35lw (0 ;08 I Loy <Access 2013 1581 o5 ;3 51 3,90 ElaS -1V
Filter (F Report (¥ Query (¥ Find ()
€394 (0 Sl U pIaS b 031> 6B5L 5l Jogaz 5 55 W) ;0 -IF
Record (¥ Column (W Field (V¥ Form ()
€394 0 g0 EIIS 4y y2xie cInternet Explorer 1381 o5 ;5 g Ao 5 (5355L K ;5 Escape sulS (3,48 -16
Reload (¥ Stop (W Duplicate (¥ New Tab ()
S39: Lasiie 35 OF EU 4l «Jald slowl plSid 53 305 133l 035 51 Sy lS 3 -15
Excel (¥ PowerPoint (¥ Access (Y Word ()
Sl I8 jué ¢y slvabidls | S plaS -1V
ROM (¥ DRAM (¥ SRAM (¥ Cache ()
€3S o 63Liianl WdulS eIaS 31 eewiyi @y ¢y9le g jelopé o Juld Lkl (sl Windows 7 Jole el 53 -1A
Ctrl g Alt (F Alt ¢ Ctrl (W Ctrl ¢ Shift (¥ Shift ¢ Ctrl ()
el )l HL8 adigy Sy o a5 L sl «Send to (sgio ;5 > Desktop wlxil (Windows 7 Jole @i 55 -19
3940 Jo£ plaS
Desktop a Julo Jasl (¥ Desktop ;5 ol 5l (S Sy sl ()
Desktop Linles I G J2l8 padiume (535S 5L (F Desktop ;5 JoB sl 1 e S sloul (W

Windows Jsle eliuw jl Crouud plaS ;5 «Screen saver g aisoj puz j29lai (o, ) (sl Theme wlxisl -Yo

Cogudi 0 pIES] 7
Folder Options (¥ Device Manager ()
Screen Resolution (¥ Personalization (W

(05) plol 3o 35 31 921 Sliaw M (5 39Ud i 15 ¥ 1 g b1y 4 ) ol & yleo Y Juad



(q Vs AU

Sl Obj WV lgaw Jegan Juad <

1- what a beautiful painting! It .............. by a famous painter.
1) must have painted 2) must have been painted
3) should have painted 4) should have painted

25U Jsgro 2L J=d olgs ay azgi b € ¥ ainS tasye plpl culw dwb M
2- | am not feeling well today at all.
1) If I am, | will go on a picnic 2) if I had been, | would have gone on a picnic
3) If I were, | would have gone on a picnic  4) if | were, | would go on a picnic

3- The puzzle was much too confusing for the child to solve. If it ..............

1) was easier, he would solve it 2) were easier, he would solve it

3) is easier, he will solve it 4) had been easier, he'd have solved it
4- | didn't pass the exam. | wish ................... Harder.

1) work 2) worked 3) had worked 4) have worked

5- Home dosen't like to go college, and Hamid .........................

1) didn't either 2) doesn't either 3) neither does 4) neither did
6- It was raining so hard, ............... he decided to go out for a walk.

1) besides 2) so 3) therefor 4) yet

7- Do you speak French? "Yes, | learned ............... in france"

1) how it to speak 2) how to speak 3) it how to speak  4) to speak it how

8- Do you mind ............. This letter for me?

1) to mail 2) mail 3) mail ed 4) mail ing

9- The doctor advised the patient ........... smoking as soon as possible.

1) stopped 2) to stop 3) stopping 4) stop

10- |1 got something for my cough from the chemist, so I .................... go to the doctor.
1) shouldn’t 2) must 3) don't have to 4) had to

11- The property was ours. It ................. TO us.

1) belong 2) belonged 3) belonging 4) dose not belong

(05) plol 3o 35 31 921 Sliaw M (5 39Ud i 15 ¥ 1 g T FATE P


https://iranarze.ir/es1555

(q Vs AU

12- The first meeting will be in the city hall, but all ....................... Meeting will be held in the school.
1) sufficient 2) former 3) subsequent 4) incipient
13- When the technique known as gene-splicing .........c.ccceeeevuneeeeee. In the early 1970 s, it was feared that the

scientists might inadvertently create an ‘Andromeda strain’. A microbe never before seen on earth.

1) was invented 2) which invented 3) they invented 4) invented
14- The weather was .................... we went to the beach most weekends.

1) such good last summer that 2) so good last summer that

3) too good last summer to 4) good enough last summer to

15- Currently 80 percent of drugs are shot down in early clinical trials because they are not effective or

are even .......ceeeens
1) intense 2) initial 3) toxie 4) prior

16- Some oh the ................... Are endangered animals.

1) whales 2) goats 3) ducks 4) cats

17- My friend is standing .................... the students in the class.

1) down 2) among 3) about 4) away
18- Our math teacher is going to teach a new lesson .................... Monday.

1) Last 2) later 3) next 4) soon

19- Did you hear the news? They'll ........................ a bridge for the village.

1) build 2) building 3) built 4) to build

Encryption is a method of converting data into an unreadable format to prevent unauthorized access. There
are two main types of encryption: symmetric encryption and asymmetric encryption.

Symmetric encryption uses the same key for both encryption and decryption. that both the sender and the
receiver must keep the key secret. While and asymmetric encryption is generally faster and more efficient.
it poses a risk if the key is compromised.

Asymmetric encryption, on the other hand, uses a pair of keys; a public key and a private key. The public
key can be shared openly, while the private key must be kept secret by the owner.

This method enhances security because even if someone obtains the public key, they cannot decrypt

messages without the private key.

1)
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In addition to these technologies, two-factor authentication requires users to enter an additional code sent
to their mobile phone, in addition in their password. Users should also be cautious and avoid using public
networks for financial transactions.
Regularly updating software and using strong passwords can further enhance security. By following these
tips, users can enjoy online banking services with greater confidence.
20- Which security technology is commonly used in online banking?

1) Encryption 2) Sending emails  3) Phone calls 4) Physical tokens
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